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General Information




Getting Started

Examples

Each section is followed by instructions for keystroke examples that demonstrate the
TI-30XS MultiView™ and TI-30XB MultiView™ functions. All references in this manual
will refer to the TI-30XS MultiView, but are also applicable for the TI-

30XB MultiView™.

Examples assume all default settings, as shown in the Modes section.

For more activities and examples, see the TI-30XS MultiView™ Teacher Guide available
at education.ti.com/guides.

Switching the Calculator On and Off

turns on the TI-30XS MultiView™ calculator. [off] turns it off. The display is
cleared, but the history, settings, and memory are retained.

The APD™ (Automatic Power Down™) feature turns off the TI-30XS MultiView™
calculator automatically if no key is pressed for about 5 minutes. Press after APD.
The display, pending operations, settings, and memory are retained.

Display Contrast

The brightness and contrast of the display can depend on room lighting, battery
freshness, and viewing angle.

To adjust the contrast:

1. Press and release the key.
2. Press [#] (to darken the screen) or [] (to lighten the screen).

Home Screen

On the Home screen, you can enter mathematical expressions and functions, along
with other instructions. The answers are displayed on the Home screen. The TI-30XS
MultiView™ screen can display a maximum of four lines with a maximum of 16
characters per line. For entries and expressions of more than 16 characters, you can
scroll left and right (© and () to view the entire entry or expression.

In the MathPrint™ mode, you can enter up to four levels of consecutive nested
functions and expressions, which include fractions, square roots, exponents with A, ¥y,
ex, and 10x.

When you calculate an entry on the Home screen, depending upon space, the answer is
displayed either directly to the right of the entry or on the right side of the next line.

Special indicators may display on the screen to provide additional information
concerning functions or results.
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Indicator Definition

2nd 2nd function.

HYP Hyperbolic function.

FIX Fixed-decimal setting. (See Modes section.)

SCl, ENG Scientific or engineering notation. (See Modes
section.)

DEG, RAD, Angle mode (degrees, radians, or gradians).

GRAD (See Modes section.)

K Constant feature is on.

L1, L2, L3 Displays above the lists in data editor.

g The TI-30XS MultiView™ calculator is
performing an operation.

™ An entry is stored in memory before and/or
after the active screen. Press @ and @ to
scroll.

<« An entry or menu displays beyond 16 digits.

Press © or ® to scroll.

2nd Functions
2nd

Most keys can perform two functions. The primary function is indicated on the key and
the secondary function is displayed above it. Press to activate the secondary
function of a given key. Notice that 2nd appears as an indicator on the screen. To
cancel it before entering data, press again. For example, [v] 25 &
calculates the square root of 25 and returns the result, 5.

Modes

Use to choose modes. Press @ @ (© ® to choose a mode, and [y to select it.
Press or [quit] to return to the Home screen and perform your work using the
chosen mode settings.

Default mode settings are shown highlighted.

DEG RAD GRAD Sets the angle mode to degrees, radians, or gradians.
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NORM SCI ENG Sets the numeric notation mode. Numeric notation modes affect
only the display of results, and not the accuracy of the values stored in the unit, which
remain maximal.

NORM displays results with digits to the left and right of the decimal, as in
123456.78.

SCI expresses numbers with one digit to the left of the decimal and the appropriate
power of 10, as in 1.2345678+105 (which is the same as 123456.78).

Note: In some restricted environments (for example function table, data editor,
and the [recall] menu), the TI-30XS MultiView™ calculator may display E
instead of *10n.

ENG displays results as a number from 1 to 999 times 10 to an integer power. The
integer power is always a multiple of 3.

Note: is a shortcut key to enter a number in scientific notation format. The
result displays in the numeric notation format set in mode.

FLOAT 0123456789 Sets the decimal notation mode.
FLOAT (floating decimal point) displays up to 10 digits, plus the sign and decimal.

0123456789 (fixed decimal point) specifies the number of digits (0 through 9) to
display to the right of the decimal.

CLASSIC MATHPRINT
CLASSIC mode displays inputs and outputs in a single line.
MATHPRINT mode displays most inputs and outputs in textbook format.

Examples of Classic and MathPrint modes

Classic mode MathPrint mode
Sci Sci

sl DEG At sl DEG

12345 12345
1. 23454104 1.2345+104

Float mode and answer toggle [Float mode and answer toggle

key. key.
7V :
Fa il -
%" 0.125
Fix 2 Fix 2 and answer toggle key.
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Classic mode

MathPrint mode

2n .28 2n 2
2w G, 28
Un/d Un/d
L P 419 4z A1
) )
Exponent example Exponent example
2°5 32 25 32
Square root example Square root example
JO2a Iz Iz
1.414213362 e 1.414213567
Cube root example Cube root example
I*led o4 =[&4d 4
Menus

Certain keys display menus: [prb], [angle], [data], [stat], [reset], [recall],

and [clearvar]. Some keys may display more than one menu.

Press ® and ® to scroll and select a menu item, or press the corresponding number
next to the menu item. To return to the previous screen without selecting the item,
press [clear]. To exit a menu or application and return to the Home screen, press

[quit] .

The menu chart shows the menu keys and the menus they display.
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[angle]
PRB RAND DMS RO P
1: nPr 1:rand 1:° 1: R» Pr(
2:nCr 2: randint( 2:7 2:R» PO(
3:1 3.7 3: P» Rx(
4:r 4: P» Ry(
5:g
6:» DMS

Press once to display the Data editor screen. Press again to display the menu.

CLEAR FORMULA

1: Clear L1 1: Add/Edit Frmla
2: Clear L2 2: Clear L1 Frmla
3: Clear L3 3: Clear L2 Frmla
4: Clear ALL 4: Clear L3 Frmla

5: Clear ALL

Press while you are in the Add/Edit Formula option of the FORMULA menu to
display this menu:

Ls

1: 11
2:12
3:13

[sar]

STATS

1: 1-Var Stats
2: 2-Var Stats
3: StatVars*

* This menu option displays after you calculate 1-var or 2-var stats:

StatVars

1:n
2:X
3:Sx

Etc. See Statistics

for a full list of

values.
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[reset] [recall] [clearvar]
Reset Recall Var Clear Var
1: No 1:x= 1: Yes
2:Yes 2:y= 2: No
3:z=
4:t=
5:a=
6:b=
7:c=
Scrolling
(OJOXSXC)

Press @or ® to place the cursor horizontally over the expression entered. Press 0
or ® to move the cursor directly to the beginning or end of the expression.

After an expression is evaluated, use @ and @ to scroll through previous entries,
which are stored in the TI-30XS MultiView™ calculator’'s memory. You can reuse a
previous entry by pressing It to paste it on the bottom line, and then evaluating a
new expression.

Examples
Scroll SNES N enter | e
1+1 2
2[+] 2 X e
1+1 2
242 4
3+ 36 *
1+1 2
2+2 4
3+3 =
4 4 m tEG 42
2+2 4
3+3 =
d+4 g
Peocma =
242 4
3+3 =)
d+4 =)
2+
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2 MBSt
2t2 9
J+3 =]
3+d g
Kh A g

Answer Toggle
(<>

Press the B key to toggle the display result between fraction and decimal answers,
exact square root and decimal, and exact pi and decimal.

Example
Answer Ral:] ente Tra—
toggle Iz el I
n DEG A
Iz 2[Z
EJ_EH-
2.828427125
Last Answer
(znd) [ans]

The most recently calculated result is stored to the variable Ans. Ans is retained in
memory, even after the TI-30XS MultiView™ calculator is turned off. To recall the value
of Ans:

e Press [ans] (Ans displays on the screen), or

e Press any operations key ([+], [=], and so forth) as the first part of an entry. Ans and
the operator are both displayed.

Example
Ans 3(x] 3 09 e e
k3 =
3 m {1
%3 .
ans#3 27
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3 [2nd] [*v-] [2nd] [ans] s
e

k3
INSEI 27
*[an= 3

Order of Operations

The TI-30XS MultiView™ calculator uses Equation Operating System (EOS™) to
evaluate expressions. Within a priority level, EOS evaluates functions from left to right
and in the following order.

1st

Expressions inside parentheses.

2nd

Functions that need a ) and precede the
argument, such as sin, log, and all R<» P menu
items.

3rd

Fractions.

4th

Functions that are entered after the argument,
such as x2 and angle unit modifiers.

5th

Exponentiation (*) and roots (x).

Note: In Classic mode, exponentiation using the
key is evaluated from left to right. The
expression 22372 is evaluated as (2”3)"2, with
a result of 64.

DEG

2732 &

In MathPrint™ mode, exponentiation using the
key is evaluated from right to left. The
expression 22372 is evaluated as 2/(3/2), with
a result of 512.

DEG

538 512

The TI-30XS MultiView™ calculator evaluates
expressions entered with (x3] and from left
to right in both Classic and MathPrint modes.
Pressing 3 is calculated as (32)2 = 81.

6th

Negation (-).

7th

Permutations (nPr) and combinations (nCr).

8th

Multiplication, implied multiplication, division.
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9th Addition and subtraction.

10th Conversions (n/d < » Un/d, F < » D, P DMS).

11th B completes all operations and closes all

open parentheses.

Examples

+x+° 605@]12 MEG b
enter] EO+54 -12 0

) 1 [ 8 [ 12 e
1+-8+12 2
[»/‘] 9 6 DEG ot
enter] T9+1E =

() ax[J2H30) P
[enter] b 2+30 20
4 2 3 DEE ha
enter] 4{2+30 20

"andX«f ['*I_:|32® WSt
4 2 m | 324_42 2

Clearing and Correcting

Clears an error message.
Clears characters on entry line.
Moves the cursor to last entry in history once

display is clear.

Backs up one screen in applications.

Deletes the character at the cursor.

- insert]

Inserts a character at the cursor.

[
2nd [clear var]

Clears variables x, y, z, t,a, b, and c.
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[reset] 2 Resets the TI-30XS MultiView™ calculator.

Returns unit to default settings; clears memory
variables, pending operations, all entries in
history, and statistical data; clears the constant
feature, K, and Ans.

Memory and Stored Variables
[recall] [clear var]

The TI-30XS MultiView™ calculator has 7 memory variables—x, y, z, t, a, b, and c. You
can store a real number or an expression that results in a real number to a memory

variable.

lets you store values to variables. Press to store a variable, and press to
select the variable to store. Press B to store the value in the selected variable. If

this variable already has a value, that value is replaced by the new one.

accesses the menu of variables. Press this key multiple times to choose x, y, z, t,
a, b, or c. You can also use to recall the stored values for these variables. The
name of the variable is inserted into the current entry, but the value assigned to the
variable is used to evaluate the expression.

[2nd] [recall] recalls the values of variables. Press [recall] to display a menu of
variables and their stored values. Select the variable you want to recall and press [Eit3.
The value assigned to the variable is inserted into the current entry and used to
evaluate the expression.

[clearvar] clears variable values. Press [clearvar] and select 1: Yes to clear all
variable values.

Examples
Clear [clear var] 1 e
Var
2=
i Ho
Store 15 s
15+4
m DEG +
15+ 15
Recall [recall] EG
=0
2lz=0
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enter JEN enter -
15+ 15
152 225

[stow] (x5 (5] Fr—
15 15
152 225
Anz+y

m DEG Ao
1544 15
15% 225
Hriz+y 225

(7] (23] .
152 225
Hrn=+4 225
4

[enter JEIRFenter] -
Hris+y 225
] 225
A=+ b, 25

Problem

In a gravel quarry, two new excavations have been opened. The first one measures 350
meters by 560 meters, the second one measures 340 meters by 610 meters. What
volume of gravel does the company need to extract from each excavation to reach a
depth of 150 meters? To reach 210 meters? Display the results in engineering
notation.

(mode] @ ® O EXTY [clear] e Fr—
=7 Io0SEO
350 [x] 560 I
enter ] L SE 0%
340 (x] 610 == FrrR——
196+10%
Jd0xE10+y
207, 4+10%
150 [recall] EHG DEG
=207 4ES
Slz=0g0
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207 . 4%10%
1504195000

29, 4%10%

210 [recall] CE

EHG DEG At

29.4%10%
210196000
41, 16+10°

150 (X [+ (2] NS

ENG DEG 4

210196000
41.16+10%
1309 =9, 11%10%

210 (x] (x25] (2i] (N

ENG DEG ot

1309 31, 11%10%
2100k
43, 554%10%

For the first excavation: The company needs to extract 29.4 million cubic meters to
reach a depth of 150 meters, and to extract 41.16 million cubic meters to reach a

depth of 210 meters.

For the second excavation: The company needs to extract 31.11 million cubic meters to
reach a depth of 150 meters, and to extract 43.554 million cubic meters to reach a

depth of 210 meters.
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Math Functions
Fractions

Ea ] Ed)[eod [ o]

In the MathPrint™ mode, fractions with [§] can include operation keys ((#], [x], etc.) and
most function keys ([x7], [%], etc.).

In Classic mode, fractions with 5] do not allow operation keys, functions, or complex
fractions in the numerator or denominator.

Note: In Classic mode, data editor, and table, use (3] to perform complex division
problems.

Calculations using fractions can display fraction or decimal results, depending on input.

The TI-30XS MultiView™ calculator defaults output to improper fractions. Results are
automatically simplified.

o enters a simple fraction. Pressing (3] before or after a number can result in
different behavior. Entering a number before pressing [i] makes that number the
numerator.

To enter fractions with operators or radicals, press (5] before you enter a number
(in MathPrint™ mode only).

In MathPrint mode, press @ between the entry of the numerator and the
denominator.

In Classic mode, press (i) between the entry of the numerator and the
denominator.

e To paste a previous entry in the denominator, place the cursor in the denominator,
press @ to scroll to the desired entry, and then press to paste the entry
to the denominator.

e To paste a previous entry in the numerator or unit, place the cursor in the
numerator or unit, press @ or @ to scroll to the desired entry, and then press
to paste the entry to the numerator or unit.

. [ui] enters a mixed number. Press [ui] between the entry of the unit and
the numerator.

. [5«»U5] converts between mixed numbers and simple fraction form.

. [f«»d] converts results between fractions and decimals.

Examples Classic mode

n/d, Un/d |3 & 4 [#] 1 [2nd] [ud] :
700 12 B0 To4+1LTA1E TS

[
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n/d <» 9 (5] 2 [2nd] [§4>u3]
Un/d enter |

1

=R AL N R duls2

F«»D 4[2nd) [Ui] 1(5] 2
(2nd] [f<>d] CE

dulsZrFab 4.0

Examples MathPrint™ mode

n/d, Un/d G3@40[+1
(nd] [U3] 7@ 12
enter |

Bl

hal4

n/d<» Un/d [9(5 2 [2nd]
YU enter

hCIII.I:I

F % 43

F4»D 4nd[Ui] 1 @ 2
® [2nd] [f<>d]
enter ]

4%FF"D 4.5

Examples 1.2+13®
(MathPrint™ |4 B

z 1

1.2+1.%2 EI.EETS

mode only)

(MathPrint™ @] s we  n

mode only) [[v]5 E+[eT-ac11ce2
Eﬂ[]4l|1ll 2011 -5
60] @2
10] =

Percentages

[%] [>e]

To perform a calculation involving a percentage, press [%] after entering the value

of the percentage.

To express a value as a percentage, press [>»] after the value.

Math Functions
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Example

2 [2nd] [%] (x] 150 E T
2%+130 3

1(3 5® [2nd] [=] EXI W -
1, 20%
EFA

Problem

A mining company extracts 5000 tons of ore with a concentration of metal of 3% and
7300 tons with a concentration of 2.3%. On the basis of these two extraction figures,

what is the total quantity of metal obtained?

If one ton of metal is worth 280 dollars, what is the total value of the metal extracted?

3 [2nd] [%] (x] 5000 (XN .
JEEa000 1350
2.3 2nd] [%] [x] 7300 BN R
JIx2000 130

Ans+2. 35+7 300
7.9
(x] 280 B wa  »
SE£5000 150

Ans+2.. 357 300

17.49
Ar=#220 o012

The two extractions represent a total of 317.9 tons of metal for a total value of 89012

dollars.

x10n Key

Press to enter a number in scientific notation format. Use parentheses to

compute the correct order of operation.

(mede] © © EXH

] 1

EAD GREAD
EH
HEEFED
IC ll.[ill.-.l.ﬂﬂ_li.l.l
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B 207 3@ 407 50 O PR
enter] 2x102

4k -
4x10% S=10"F

[dear] [ 2 (07 30 0] B [0 4 e v
ta0r] 5 ® D] 241051+ 4+105)
enter] S0

Powers, Roots and Inverses

Calculates the square of a value. The TI-30XS
MultiView™ calculator evaluates expressions
entered with and from left to right in
both Classic and MathPrint™ modes.

Raises a value to the power indicated. If you
insert an expression as the exponent, you must
place it between parentheses.

[v] Calculates the square root of a positive value.

2nd] [*v] Calculates the nth root of any positive value and
any odd integer root of a negative value.

Gives the inverse of a value: 1/x. The TI-30XS
MultiView™ calculator evaluates expressions
entered with and from left to right in
both Classic and MathPrint™ modes.

Examples

sN20 a4 d2(+H10] ' v

e S2eqiZelr 9

1008 (=) 2 EXA g

ig~"& 1

100

[] 40 G o
T49 v

nd [v]3 20 [H 2[1) 4 Y
e Jz2422 =

Math Functions
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6 2nd] [+v] 64 BN wa
=led 2

2[x7) EX -
2'1 1

z

Pi
7 = 3.141592653590 for calculations.
7 = 3.141592654 for display.

Example
T 25 @ O .
2% Zn
n DEG +
L 2n
Z2me B, 283185307

Problem

What is the area of a circle if the radius is 12 cm?

Reminder: A = 1tr2.

@ X120 2 9 e
122 1d4dn
n DEG +
ke l1ddn

144
432. 3393421

The area of the circle is 144 &t square cm. The area of the circle is approximately 452.4
square cm when rounded to one decimal place.
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Angle Menu

[angle]

(2nd] [angle] displays the choice of two submenus that enable you to specify the angle

unit modifier as degrees (°), minutes ('), seconds ("); radian (r); gradian (g), or convert
units using PDMS. You can also convert between rectangular coordinate form (R) and
polar coordinate form (P). (See Rectangular to Polar for more information.)

Choose an angle mode from the mode screen. You can choose from DEG (default),
RAD, or GRAD. Entries are interpreted and results displayed according to the angle
mode setting without needing to enter an angle unit modifier.

Examples
RAD Y erce]
DEG GREAD
I ENG
O1EI4EEF S
IC [iGRiaId ik
G 30
[angle] R
H 1
34.."
4 m . RAD 4+
SinC30% ) i
DEG enter] wa
RAD GRAD
%SCI ENG
Q1ZIHEEF ST
il THEE IH 1]
2 .
[angle] 4 =inC30% 2 %
2t 360
»DMS 1.5 [angle] 6 _ ws -
enter] =inc30% 2 %
Z2nv 360
1.5¥0MS  1=30'0"
Problem

Two adjacent angles measure 12° 31" 45” and 26° 54’ 38”. respectively. Add the two
angles and display the result in DMS format. Round the results to two decimal places.

Math Functions
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[clear] [mode] © @ ® ® © B

Fid 1

@HRHD GF:HI:I
T DiEBHEE?EEI

CLASSIC
12 [angle] RaD
R
3.\1_ n
. 12031 1 451 4250 Sab
1 ||+
31 [angle] 2 Ia- 44
a5 [angle] 3

26 [angle] 1
54 [2nd) snold 2
38 [2nd) [anoid] 3 (0

[angle] 6 (IR

12731 '45"+2%;5§i
3R 43IV Z22222 1 kh
A= L] SR

The result is 39 degrees, 26 minutes and 23 seconds.

Problem

It is known that 30° = &t / 6 radians. In the default mode, degrees, find the sine of 30°.
Then set the calculator to radian mode and calculate the sine of & / 6 radians.

Note: Press to clear the screen between problems.

(clear] [sin] 30 ] B G ;
sinC30n 1

=

[mode] @ [EXE [clear] [sin] (7] [3] 6 o i
® =inc302 %
o 2in(Z) :

Retain radian mode on the calculator and calculate the sine of 30°. Change the

calculator to degree mode and find the sine of ©t / 6 radians.

) 30 [20d) [angle

RAD

Ein[’é]
sinC3I09 2

o Lol ] L
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(mode] [T [clear]
sin] [7] (] 6 ® [2nd] [angle]

0) E=

Sinc3E0% 0

Siﬁ[gr]

Fal= Rl

Rectangular to Polar

[angle]

[angle] displays a menu to convert rectangular coordinates (x,y) to polar
coordinates (r,0) or vice versa. Set Angle mode, as necessary, before starting

calculations.

Example

Convert polar coordinates (r,0)=(5,30) into rectangular coordinates. Then convert

rectangular coordinates
(x,») = (3,4) into polar coordinates. Round the results to one decimal place.

R»P

CXCROJO) ener|

DEG

fangle] ®
3

5 (nd) [,] 30 (]
erver
fangle] ® 4
5 nd) [,] 30 (]
erter

fongidl © 1
3d [,] 47
ercer

fangle] ® 2
3ndl [,] (1]
erce]

FI

1A
e e e
@AAA
T
b e
LdC-nen
Hee P LA LA
R T '}

R

Mo ow o

Converting (r,0) = (5,30) gives (x,y) = (4.3,2.5) and converting

(x,y) = (3,4) gives (r,0) = (5.0,53.1).

Trigonometry
[sin] [sin"] [cos] [tan"]

Enter trigonometric functions (sin, cos, tan, sin-1, cos-1, tan-1), just as you would write
them. Set the desired Angle mode before starting trigonometric calculations.

Math Functions
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Example

tan CXO) m G
Lanc4s) 1

(tan] 45 D] CX

tan-1 [tan'1] 1 we
tan 112 45

cos 5 60 DEG
S#cos (a0l

#

rann *

Degree Mode

Example Radian Mode

tan @ m eG4
4 tan[}] 1
o0 =
tan-1 2nd [tan"] 1 +-. 1{ 1 :l RAD 4
nte an”
0. 7853938163
n RAD e
Q. 735393163
D.?BES?BIESE??E;
a4
cos 5 cos 4 v
OB} ente | T, D0.7E5398163
Swcos[5) E%E
(<> P
EJ_Eil'
S D30T SII06
Problem

Find angle A of the right triangle below. Then calculate angle B and the length of the
hypotenuse c. Lengths are in meters. Round results to one decimal place.

Reminder:
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: " (5)
tan A = 3 therefore mZA = tan 3

Fa)
mZA +mZB+90° = 180°
therefore mZB =90° - mZA 5 F
c=V 32 + 72 I:'_ I-I' RH_H‘- E
(mode] ® @ ® © B ™ e
_RAD _GRAD
SCI ENG
T ZZYHEEF ST
CLASSIC H
[tan"] 7 3 @ Fid s
tan1(Z) 66,5
90 E] [ans] m i DEG +
tan[Z)] 66,5
Q0-Ans 23.2
[J‘]37m Flit [EG  hw
Q0-Ans 23,2
|32+?E J_E
n Fitt DEE e
Q0-Ans 3.
32+?E Jﬁ
(S5 Tab

To one decimal place, the measure of angle A is 66.8°, the measure of angle B is 23.2°,
and the length of the hypotenuse is 7.6 meters.

Hyperbolics

[hyp]

[hyp] displays the HYP indicator and accesses the hyperbolic function of the next
trigonometry key that you press. Angle modes do not affect hyperbolic calculations.
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Example

HYP (2nd) [hyp] (sin) 5 0] b cEven Fra—
2 =1ih +
— Fh. 20321053
om0 ks
=in
[hyp] [2nd Eir‘lh'TE‘%_’)E%SEIDSE
[sin"] RN 4, 3124387541

Logarithm and Exponential Functions

(in] [10+] [ex]

yields the common logarithm of a number.

(In] yields the logarithm of a number to the base e (e~2.718281828459).
[10¥] raises 10 to the power you specify.

2nd] [e¥] raises e to the power you specify.

Examples
LOG 10) P
logcln ]
LN @ 5 2 m DEG g
logcln ]
InoSasxz
2218875825
1OX Elox] 2 O I R O L e "
enter 3o r1887SE2S
2nd] [10%] 5 ®) inl=9c=l 2
enter} loal10%) 5
ex 2nd [ex] .5 m WG e
=
l.648721271
Statistics

[sta]
[stat] displays a menu with the following options:

e 1-Var Stats analyzes statistical data from 1 data set with 1 measured variable, x.
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e 2-Var Stats analyzes paired data from 2 data sets with 2 measured variables—x,
the independent variable, and y, the dependent variable.

e StatVars displays a secondary menu of statistical variables. The StatVars menu only
appears after you have calculated 1-Var or 2-Var stats. Use @ and ® to locate the
desired variable, and press Bty to select it.

Variables Definition

n Number of x or (x,y) data points.

X ory Mean of all x or y values.

Sx or Sy Sample standard deviation of x or y.

OXoroy Population standard deviation of x or y.

Zx or Xy Sum of all x or y values.

2x2 or Xy2 Sum of all x2 or y2 values.

Zxy Sum of (x...y) for all xy pairs.
Linear regression slope.

b Linear regression y-intercept.

r Correlation coefficient.

x’ (2-var) Uses a and b to calculate predicted x value
when you input a y value.

y (2-var) Uses a and b to calculate predicted y value
when you input an x value.

MinX Minimum of x values.

Q1 (1-var) Median of the elements between MinX and
Med (1st quartile).

Med Median of all data points.

Q3 (1-var) Median of the elements between Med and

MaxX (3rd quartile).

MaxX Maximum of x values.

To define statistical data points:
1. EnterdatainLl, L2, or L3. (See Data editor.)

Note: Non-integer frequency elements are valid. This is useful when entering
frequencies expressed as percentages or parts that add up to 1. However, the
sample standard deviation, Sx, is undefined for non-integer frequencies, and
Sx = Error is displayed for that value. All other statistics are displayed.

Press [stat]. Select 1-Var or 2-Var and press [Eyd.

Select L1, L2, or L3, and the frequency.

Press to display the menu of variables.

To clear data, press (data], select a list to clear, and press [El.

vk W
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Examples

1-Var: Find the mean of {45, 55, 55, 55}

Clear all @@@ 1EG
data FORMULA
ear L2
SiClear L3
Data 45 55@ 55| m mes »
® 55 £e
EE
LifEx=
Stat 2nd] [stat] 1 P
?P—ﬁarﬂ Stats
12-Var Stats
@ @ DEG
BRTA. 8 LE Lz
FRi: EEE Ll LZ L=
CALC
DEG
r‘|=
g: ®=0Z2.5
JL5w=5
Stat Var |2 XS e
X aZ2.5
2 DEG +
® 2.0
Ans#*2 105
2-Var: Data: (45,30); (55,25). Find: x’(45)
Clear all @@ wea
data ©) FORMULA
ear L2
ZiClear L3
Data EN4s©5@ |[ o @we
®30©25@ ;E EE | ______
LEl=1=
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Stat [stat] 2
(Your screen may ?;Ii];ﬁap Stats
not show 2-Uar Stats
3:StatVars if you i StatWar
did not previously
perform a
calculation.)
@ @ DEG
Z=UAR =ZTATE
*DATA: LZ L=
YDATA: |4 L=
CALC
B ) (o]
[sta]
:-::
30066 > !
@ Idminx=45
e 45 o
®*' 045 15

Problem

For his last four tests, Anthony obtained the following scores. Tests 2 and 4 were given
a weight of 0.5, and tests 1 and 3 were given a weight of 1.

Test No. 1 2 3 4
Score 12 13 10 11
Coefficient 1 0.5 1 0.5

1. Find Anthony’s average grade (weighted average).

2. What does the value of n given by the calculator represent? What does the value of
2x given by the calculator represent?

Reminder: The weighed average is

Tz _ (12) (1) + (13) (0.5) +(10) (1) +(11) (0.5)
n 140.5+14+0.5

3. The teacher gave Anthony 4 more points on test 4 due to a grading error. Find
Anthony’s new average grade.

) FIIIRHLIL;:EIG
®s ear LZ
Zillear L3
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CLERK II!]?EI.!]_!il
I1Clear rrla
4iClear L3 Frmla
2013010011001 m B mws
@50105@ 13 '3-5
i1 Q. E
LIl Ei=
[stat] 1 [
(Your screen may not show -
3:StatVars if you did not mg:: E%g%g
previously perform a :
calculation.)
(OJOJO) enter|
1-U'AR STATS
DATA: lﬂ L L=
FRQ: 10 Li e L=
CALC
m DEG
D=
g: ®=11.33333333
2dSx=Errar

Anthony has an average (X) of 11.33 (to the nearest hundredth).
On the calculator, n represents the total sum of the weights.
n=1+05+1+0.5
2x represents the weighted sum of his scores.
(12)(1) + (13)(0.5) + (10)(1) + (11)(0.5) = 34

Change Anthony’s last score from 11 to 15.

([dta) @ @ @ 15@ m 3] @es
1z 0.5
io i
ic 0. E
LirEi=

[stat] 1@ © EXY

r‘|=

§=E=12
JdSx=Error

If the teacher adds 4 points to Test 4, Anthony’s average grade is 12.
Problem

The table below gives the results of a braking test.
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Test No. 1 2 3 4
Speed (kph) 33 49 65 79
Braking distance (m) | 5.30 14.45 20.21 38.45

Use the relationship between speed and braking distance to estimate the braking
distance required for a vehicle traveling at 55 kph.

A hand-drawn scatter plot of these data points suggest a linear relationship. The
TI-30XS MultiView™ calculator uses the least squares method to find the line of best
fit, y'=ax'+b, for data entered in lists.

(data] [data] 4
FORMULA
ear LZ
ZiClear L3

33@49@65@79@ ®53 |[n .
® Ha i4. 4HE

EE 0. 21
14.45 @ 20.21 @ 38.45 @ 73 =& HE

LE(Ei=

[stat] 2

ar Stats
EE Var Stats
ICXO)
Z-UAR E=TAT=
*DATA: LZ L=
*DATA: I L=
CALC
m DEG
r'|=
IEEOE.D
JL5x=19, 89137168
Press ® to view a and b. e
WA= 15
[ afEl_. EFra2a1390

This line of best fit, '=0.67732519x'-18.66637321 models the linear trend of the data.

Press @ until y' is highlighted.
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e 55 0) e

1

a
18.52851222

+
1

o

The linear model gives an estimated braking distance of 18.59 meters for a vehicle
traveling at 55 kph.

Probability

This key displays two menus: PRB and RAND.

PRB contains the following options:

nPr Calculates the number of possible permutations
of nitems taken r at a time, given nand r. The
order of objects is important, as in a race.

nCr Calculates the number of possible combinations

of n items taken r at a time, given n and r. The
order of objects is not important, as in a hand
of cards.

A factorial is the product of the positive
integers from 1 to n. n must be a positive
whole number < 69.

RAND contains t

he following options:

rand

Generates a random real number between 0
and 1. To control a sequence of random
numbers, store an integer (seed value) > 0 to
rand. The seed value changes randomly every
time a random number is generated.

randint(

Generates a random integer between 2
integers, A and B, where A < randint < B.

Separate the 2 integers with a comma.

Examples

nPr

] |

(prb] 1

?ﬂPEHHD
NP
Cr

-3
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Yeve] 4
2 nPr 3 336
nCr 52 (prb] 2 52 nir 5 4
niCr
Y creer 2593980
! 4 [prb] ,
Y enter] * =
sTO» |5 ®
rand T
rarn
trandintg
1w 4
S+rand =
Rand OF §enter] 4
S3rand =
rand
0. 000093165
Randint( ®2 4
3f2nd) [)] 5 (0] B2 E;—.}Eﬁhd :
0000093165
Problem

An ice cream store advertises that it makes 25 flavors of home made ice cream. You

like to order three different flavors in a dish. How many combinations of ice cream can

you test over a very hot summer?

25

23

23 nCr
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EY enter| -
25 nCr 3 2300

You can choose from 2300 dishes with different combinations of flavors! If a long hot
summer is about 90 days long, you will need to eat about 25 ice cream dishes each
day!
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Math Tools

Data Editor and List Formulas

lets you enter data in up to 3 lists. Each list can contain up to 42 items. Press
® to go to the top of a list, and ® to go to the bottom of a list.

List formulas accept all calculator functions.

Numeric notation, decimal notation, and angle modes affect the display of an element
(except fractional elements).

Example
L1 4 2 m EEE 4
103010 || iz
CHE Eﬂﬂ 1
LifEX=
Formula @ @ EHG DEG
Add~Ed1 rmla
iClear L1 Frmla
m m ErEs
i-4 | _ __ | [ ———
1.2
=4
1
oLZ=
m 2nd m EES
[fa»d] :__"g [ ——_
=4
WLEZ=LirF+D
m m =[]
4 W ______
s .
=q4 ?. 7E
| IR 0. 25

Notice L2 is calculated per the formula you entered, and L2(1)=

highlighted to indicate the list is the result of a formula.

Problem

in the author line is

On a November day, a weather report on the Internet listed the following

temperatures.
Paris, France 8°C
Moscow, Russia -1°C

Montreal, Canada 4°C
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Convert these temperatures from degrees Celsius to degrees Fahrenheit.

9
Reminder: F=35C+ 32

) FIIIHHLIL;IG
®s ear L2

ZiClear L3

1

CLEAR II!]?EI.!]_!EI
ETE%EEP rmla
H =

ar L3 Frmla

8®E1® 4@@ m HUEs  +
5-_“1 [ _
Yy
LEC 1=
®1 m mes
5_“1 | __] [ ——
Yy
wLZE=
985132 m [HUEG
5_“1 | __] [ ——
Yy
SLZ=5-E=xL1+=20
m m [EUES
] EH- ______
-1 .
Y SS9 2
LM HE . Y

If Sydney, Australia is 21°C, find the temperature in degrees Fahrenheit.

(OXSXCXCY M Y enter | u P
-1 Z0a 2
Y S 2
=1 B =
LifE)x=

Function Table

The function table allows you to display a defined function in a tabular form. To set up
a function table:

1. Press [table].
2. Enter a function and press EX&4. Functions allow up to one level of fractions.

3. Select the table start, table step, auto, or ask-x options and press [ity4.
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The table is displayed using the specified values.

Start Specifies the starting value for the independent
variable, x.
Step Specifies the incremental value for the

independent variable, x. The step can be
positive or negative, but cannot be zero.

Auto The TI-30XS MultiView™ calculator
automatically generates a series of values
based on table start and table step.

Ask-x Lets you build a table manually by entering
specific values for the independent variable, x.

Problem
Find the vertex of the parabola, y = x(36 - x) using a table of values.

Reminder: The vertex of the parabola is the point on the line of symmetry of the
parabola.

(rable] (23] [ 36 (5] (2] 0] .
[enter ] = EL AL Sl
Start=0
Ster=1
Az k=1
0k
o] 15© (e 3@ © B
Start=15
Step=3H L
[Huit. o sk—u
0k
izt
%?--E&H
1 =ic
i=1E

After searching close to x = 18, the point (18, 324) appears to be the vertex of the
parabola since it appears to be the turning point of the set of points of this function. To
search closer to x = 18, change the Step value to see points closer to (18, 324).

Problem

A charity collected $3,600 to help support a local food kitchen. $450 will be given to the
food kitchen every month until the funds run out. How many months will the charity
support the kitchen?

Reminder: If x = months and y = money left, then y = 3600 - 450x.

Math Tools 34



3600 [<] 450 E

=F600-450x
[enter [IROR RONOf enter ROY enter |
(] A
Input guesses EXSy "
z " 2700
3 EED
:n_::E

The support of $450 per month will last for 8 months since y(8) = 3600 - 450(8) = 0 as
shown in the table of values.

Constant
[K]
[K] turns Constant feature on and lets you define a constant.

To store an operation to K and recall it:

1. Press [K].

2. Enter any combination of numbers, operators, and/or values, up to 44 characters.
3. Press B9 to save the operation. K displays in the indicator line.
4

Each subsequent time you press B4, the TI-30XS MultiView™ calculator recalls
the stored operation and applies it to the last answer or the current entry.

Press [K] again to turn Constant feature off.

Examples
K 2nd [K] 1EG
K=
2(+) 3 B x
k=#2+3
45 P wa -
d2+3 11
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i+ 3

11
B+2+3 15
Reset K (K] K] « s
clear enter] E==
5 m K DEG g
5Z 25
20 m K DEG g
52 23
20< 400
Turn off K k] 1(+ 1 209 e e
52 25
202 400
1+1 2
Problem

Given the linear function y = 5x — 2, calculate y for the following values of x: -5; -1.

Kl [x] 5(-) 2 G X =
E=#5-2

(ERIR: ener] z -
—S#o—2 -27

(GR]EY enter] z P
“SHo—2 -27
-1w5-2 '

2nd [K] s+
-S#o—-2 —2F
“l#5-2 -7
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Reference Information
Errors

When the TI-30XS MultiView™ calculator detects an error, it returns an error message
with the type of error.

To correct the error, note the error type and determine the cause of the error. If you
cannot recognize the error, use the following list, which describes error messages in
detail.

Press to clear the error message. The previous screen is displayed with the cursor
at or near the error location. Correct the expression.

ARGUMENT — A function does not have the correct number of arguments.
DIVIDE BY 0 — You attempted to divide by 0. In statistics, n = 1.

DOMAIN — You specified an argument to a function outside the valid range. For
example:

e Forxyy:x=0ory<0andxis not an odd integer.

e Foryxyandx=0;y<0andxis not an integer.

e Foryx:x<O0.

e ForLOGorLN:x<0.

e For TAN: x = 90°, -90°, 270°, -270°, 450°, etc., and equivalent for radian mode.
e ForSIN-1or COS1: x| > 1.

e For nCror nPr: nor r are not integers > 0.
e Forx!: xis not an integer between 0 and 69.

EQUATION LENGTH ERROR — An entry exceeds the digit limits (80 for stat entries or 47
for constant entries); for example, combining an entry with a constant that exceeds the
limit.

FRQ DOMAIN — FRQ value (in 1-Var stats) < 0 or > 99.

OVERFLOW — You attempted to enter, or you have calculated, a number that is beyond
the range of the calculator.

STAT — Attempting to calculate 1-var or 2-var stats with no defined data points, or
attempting to calculate 2-var stats when the data lists are not of equal length.

DIM MISMATCH — Attempting to create a formula when the lists are not of equal
length.

FORMULA — The formula does not contain a list name (L1, L2, or L3), or the formula
for a list contains its own list name. For example, a formula for L1 contains L1.
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SYNTAX — The command contains a syntax error: entering more than 23 pending
operations or 8 pending values; or having misplaced functions, arguments,
parentheses, or commas. If using [Z], try using [£].

INVALID FUNCTION — Invalid function entered in the function table.

MEMORY LIMIT — The calculation contains too many pending operations (more than
23). If using the constant feature (K), you attempted to enter more than four levels of

nested functions using fractions, square roots, exponents with #, VY e and 10*.
LOW BATTERY — Replace the battery.

Note: This message displays briefly and then disappears. Pressing does not clear
this message.

Reference Information 38



Battery Information
Battery CAUTION:
¢ Do not ingest battery, Chemical Burn Hazard.

e This product contains a coin or button cell battery. If the coin or button cell battery
is swallowed, it can cause severe internal burns in just 2 hours and can lead to
death.

e Keep new and used batteries away from children.

e Always completely secure the battery compartment. If the battery compartment
does not close securely, stop using the product, remove the batteries, and keep
them away from children.

¢ If you think batteries might have been swallowed or placed inside any part of the
body, seek immediate medical attention.

e Call a local poison control center for treatment information.
e Even used batteries may cause severe injury or death.
¢ Non-rechargeable batteries are not to be recharged.

* Do not force discharge, recharge, disassemble, heat above 140F (60C) or
incinerate. Doing so may result in injury due to venting, leakage or explosion
resulting in chemical burns.

e Ensure the batteries are installed correctly according to polarity (+ and -).

¢ Do not mix old and new batteries, different brands or types of batteries, such as
alkaline, carbon-zinc or rechargeable batteries.

e Risk of fire or explosion if battery is replaced by an incorrect type.

e Remove and immediately recycle or dispose of batteries from equipment not used
for an extended period of time according to local regulations. Do NOT dispose of
batteries in household trash or incinerate.

How to remove or replace the battery
The TI-30XS MultiView™ calculator uses one 3 volt CR2032 lithium battery.

Remove the protective cover and turn the TI-30XS MultiView™ calculator face
downwards.

e With a small screwdriver, remove the screws from the back of the case.

e From the bottom, carefully separate the front from the back. Be careful not to
damage any of the internal parts.

e With a small screwdriver (if required), remove the battery.

e Toreplace the battery, check the polarity (+ and -) and slide in a new battery. Press
firmly to snap the new battery into place.

Important: When replacing the battery, avoid any contact with the other components of
the TI-30XS MultiView™ calculator.

Dispose of the dead battery immediately and in accordance with local regulations.
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Per CA Regulation 22 CCR 67384.4, the following applies to the button cell battery in
this unit:

Perchlorate Material - Special handling may apply.

See www.dtsc.ca.gov/hazardouswaste/perchlorate

Australian Lithium Battery Warning

inside the product.

WARNING

KEEP BATTERIES OUT OF THE REACH
@ OF CHILDREN

Coin Battery

Swallowing may lead to severe or fatal injuries in as little as 2 hours or less due
to chemical burns and potential perforation of the esophagus.

Never allow children to replace coin batteries of any device.

If it is suspected your child has swallowed or inserted a coin battery immediately
call the 24-hour Poisons Information Centre on 13 11 26 immediately for expert
advice.

Examine devices and make sure the battery compartment is correctly secured.
E.g. that the screw or other mechanical fastener is tightened. Do not use if
compartment is not secure.

Dispose of used coin batteries immediately and safely. A battery can still be
dangerous even when it can no longer operate the device.

Tell others about the risk associated with the coin batteries and how to keep their
children safe.

In Case of Difficulty

Review instructions to be certain calculations were performed properly.

Check the battery to ensure that it is fresh and properly installed.

Change the battery when:

does not turn the unit on, or
The screen goes blank, or

You get unexpected results.
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General Information
Online Help

education.ti.com/eguide

Select your country for more product information.

Contact Tl Support

education.ti.com/ti-cares

Select your country for technical and other support resources.
Service and Warranty Information

education.ti.com/warranty

Select your country for information about the length and terms of the warranty or
about product service.

Limited Warranty. This warranty does not affect your statutory rights.
Texas Instruments Incorporated

12500 Tl Blvd.

Dallas, TX 75243
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